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Gravitational field
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Electric fields
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SHM
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Thermal Physics
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Magnetism q Electromagnetic induction .

nAqV= 1

For charge : F -- Bqvsincl

For conductor : F -- BILsince

VH = BL

ntq When Fc = Fm

R = MI
B = do I Bq
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→ FLUX linkage .

Flux 0 = BA = iii.AIin
Emf = AO Faraday 's law
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Quantum Physics

f hfo

E- = ht = had E = 0 t Ek

De - Broglie 's wavelength : x -
-
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communication

Attenuation / Gain = 101g ( PHP,)

signal to noise ratio = 101g (Pminpnoise)



Medical Physics
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Electronics

Vout = Gain (Vt- V
-
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inverting amplifier : Gain = - Rf
Rin

Non inverting amplifier : Gain = ItRI
Rin



Radioactivity
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Hi ! you unlocked a secret

CA IES 2020 MJ are cancelled in Pakistan !




